Friday: Geography
Link to lesson: https://classroom.thenational.academy/lessons/how-has-the-use-of-natural-resources-changed
How was the use of natural resources changed?
Key vocabulary:
· Population: the total number of people living in a country, city, or other area
· Human overpopulation: when there are too many people for the environment to sustain with food, drinkable water, and breathable air
· Consumption: the action of using a resource
· [bookmark: _GoBack]Projection: the guess of a future situation based on looking at the present situation
[image: ]The world’s population
Natural resources are essential to humans because they are the basis of the economy and society. Without the use of natural resources neither the economy nor society would be able to function. We have some natural resources which are essential for life, which, without them, humans could not live: oxygen and water. We have some other resources that we use to make our lives better. We have natural resources that we use in construction, natural resources that we use to produce energy and natural resources that we use in manufacturing. The rise in the world’s human population has led to a rise in the use of natural resources.
[image: ]This graph shows you the size of the world’s population over the last 12,000 years. The beginning, at 10,000 BCE, is said to be when the first human civilizations rose in Mesopotamia. At that time, in 10,000 BCE, when humans first settled into communities and they moved away from the hunter/gatherer lifestyle, there were only around 4 million people (around half the size of the population of London). You can see that the human population didn’t increase by a lot for a very, very long time. If we move forward to 0 BCE, there were only around 190 million people around the world. You can see that there have been some declines in the world population and that has tended to be either due to war or major catastrophic events such as the Black Death pandemic in Europe which killed around 200 million people. The world’s human population first reached one billion in the year 1800. It doubled to two billion in 1928 and has seen a marked increase to the point where we are today where there are around 7.8 billion people around the world. 
Why did the population start to grow so much? 
Since the beginning of the Industrial Revolution, in the mid to late 18th century, the world’s human population has risen exponentially because of three things: 1. Advances in medicine 2. lower mortality rate 3. Increase in agricultural productivity which meant there was more access to food because more food could be grown, and more people could have access to it.
[image: ]This graph shows you the human population since the mid 1800s and shows you the annual growth rate. At the beginning of the Industrial Revolution, around 1750, you can see that the world population reached around one billion and then it has continued to increase to the point where we are today. In 2020 the human population is around 7.8 billion. The projection is that it’s going to continue to increase and by the year 2100 it will be 11.2 billion people: that’s an increase of 2.4 billion people in 80 years!
Impact on natural resources
[image: ]What impact is this having on natural resources? The rise in the human population has led to a rise in the use of natural resources. Our use of natural resources by extraction, so for activities like mining, logging, fishing and farming have led to a steady erosion of the environment. In addition, products that are manufactured by humans using natural resources, such a plastic, are also negatively impacting the environment. 
A rise in the human population has led to a rise in the use of natural resources and unfortunately this has an impact on the environment.


Natural resources and the environment
The modern economy requires us to use natural resources. The extraction of natural resources, alongside overpopulation (when there are too many people for the environment to sustain), has a considerable impact on the environment. There are six things that we’re going to remember: 
1. Deforestation: refers to a decrease in forest areas around the world; sometimes these forests are cleared either for logging or for making more land available to farming and grazing
2. Desertification: the process of land turning into desert as the quality of soil declines over time
3. Extinction of species: species becoming extinct when their habitats are cleared away
4. Greenhouse gas increase: primarily driven by the extraction and the use of fossil fuels such as oil, coal and gas, this has been linked to global warming 
5. [image: ]Ozone depletion: a gradual thinning of the world’s ozone layer, which protects the Earth from the Sun’s potentially harmful UV rays
6. Soil erosion: the removal of the most fertile top layer of soil through water or wind

Let’s take a closer look:
Deforestation is the removal of trees and is an example of a process by which the human use of natural resources can have a negative effect on the environment. Deforestation occurs for several reasons, primarily for the purpose of commercial logging, as well as clearing land for farming and mining. 
Deforestation for farming purposes tends to affect the fertility of the soil. Farmers who are unable to afford fertilisers tend to simply move on and clear more land. This often leads to soil erosion, which is when the soil is left bare, making it susceptible to be blown away.
When soil is blown away, the land becomes useless for grazing and crops and causes desertification. Desertification is the process of land turning into desert as the quality of the soil declines over time.
Deforestation also destroys the habitats of many species of plants and animals, leading to the possible extinction of certain species. 
[image: ]Ozone Depletion
The Ozone layer is responsible for filtering out harmful ultraviolet radiation from the Sun. Due to the manufacture of certain chemicals and their release into the atmosphere, a hole in this layer has appeared. By the 1970s, there was agreement of the need to tackle this problem, leading to the Montreal Protocol, ratified (agreed and accepted) in 1987. This led to a ban on the production and use of ozone-depleting chemicals. Since then, the ozone layer has gradually recovered.
Global Warming
Greenhouse gases in Earth’s atmosphere ensure that it is warm enough to support life. Without them, the planet would be about 18 degrees Celsius cooler on average than it is now. However, human activities such as the extraction and use of fossil fuels, farming and deforestation, have led to a marked increase in the amount of greenhouse gases present in the atmosphere. There is a strong consensus amongst scientists that the increase in carbon dioxide levels is linked to the rise in the Earth’s average temperature. This is known as global warming. The effects of global warming include the melting of the ice caps, a subsequent rise in sea levels, patterns of rainfall changing, producing floods or droughts, and the subsequent change of habitats.


Questions:
1. Complete the sentence: A rise in the world’s human population has led to a rise in the use of _________   __________.
2. The world’s population first reached 1 billion in the year 1900. True or false?
3. What three factors allowed for an increase in the human population?
4. Fill in the blanks using these words and numbers: Industrial Revolution, 2.1%, 2100, 1968
a. Since the ________   ___________, the world’s population has been increasing every year. The peak annual growth rate of ______ was reached in _____ and has been declining ever since.
b. It is projected that the human population will reach around 11.2 billion by the year _____.
5. Complete the sentences:
a. The rise in the human population has led to __________ in the use of natural resources.
b. The rise in the use of natural resources has had an impact on the _________.
6. Match the effect to its simple definition: 
	Effect
	
	Definition

	Deforestation
	
	Thinning of the ozone layer

	Desertification
	
	The removal of the most fertile top layer of soil

	Extinction
	
	Species becoming extinct

	Ozone depletion
	
	Land turning into desert

	Soil erosion
	
	Decrease in forest areas


7. Choose one of the words to complete each sentence:
a. Deforestation is the removal of __________. Fish/trees
b. Deforestation for farming purposes tends to reduce the __________ of soil. Fertility/taste
c. Soil erosion makes it susceptible to be ______________. Blown away/more fertile
d. Deforestation can often result in the destruction of the habitat of many species of animals and plants, potentially leading to their ____________. Desertification/erosion/extinction
8. The Montreal Protocol bans the production and use of ozone-depleting chemicals. When was it ratified? (Remember that ratified means when the governments agreed and accepted it.)
9. Without greenhouse gases, Earth would be ______ cooler on average.
10. Name 2 human activities that contribute to the rise of greenhouse gases.
11. What is the rise of Earth’s average temperature referred to as?
12. Name 3 effects of global warming. 

Answers:
1. Natural resources 
2. False
3. Advances in medicine, lower mortality rate, increase in agricultural productivity  
4. A) Industrial Revolution, 2.1%, 1968 b) 2100
5. A) an increase b) environment 
6. Deforestation – decrease in forest areas; desertification – land turning into desert; extinction – species becoming extinct; ozone depletion – thinning of the ozone layer; soil erosion – the removal of the most fertile top layer of soil
7. A) trees b) fertility c) blown away d) extinction
8. 1987
9. 18 degrees Celsius 
10. Two of: Extraction and use of fossil fuels, farming, deforestation
11. Global warming
12. Three of: melting of ice caps, rise in sea levels, changing patterns of rainfall, floods and droughts, change in habitats
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